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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 31 questions.

Please write down the Serial Number of the question before attempting
it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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QA= 7597 :

G) @t FvT Sfard &

(i) 39 J¥7-97 H 31 ¥97 & Wl IR @Sl - 3] & § 3k T °F fauifaa &

(i) TGUE 37 ¥ Uh-Ueh 3% aict 4 97 &1 @IS T § 6 F97 & 78 G FeoIF 2 37 &7
g1 @UE g T 10 F9T 9 - @7 3H & & IR @S T H 11 T § fo7H T IAF
4 3H FT

(iv) FeTPpiesT F FANT alda &1

General Instructions :
(1) All questions are compulsory.

(it) The question paper consists of 31 questions divided into four sections - A, B, C and
D.

(iit) Section A contains 4 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each and Section D

contains 11 questions of 4 marks each.

(iv) Use of calculators is not permitted.
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Qug - A
SECTION - A

U9 HE&AT 1 ¥ 4 Tk Uik U9 1 3k HI g

Question numbers 1 to 4 carry 1 mark each.

1. SIS JOTHIET 1 Ueh 18R ATGoo a1 TA1 A1 | JTTAehal F1d It foh AT 71 38R,

W€ TRIGONOMETRY 1 Teh 378K § |

A letter of English alphabets is chosen at random. Find the probability that
the chosen letter is a letter of the word TRIGONOMETRY.

2.
i 1
3TMTd 1 H, T g AABC &1 S BC &1 F W TI¥1 3l &, 71 7131l AB T AC
%! FEM T HAT: D 741 E R 9 a1 € | g AD =8 9. 1. ¥, A AABC 1 4RHg
1A SHITT |
Fig.1
In fig.1, a circle touches the side BC of AABC at F and touches AB and AC
produced at D and E respectively. If AD=8 cm, then find the perimeter of
AABC.
530/2 3 P.T.O.
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3. a<h fd qoai & o, fgoma S0 22 —ax+1=0 % arfa® qd &l & ?

2

For what values of a, the quadratic equation x* —ax+ 1=0 does not have real

roots ?

4. AR frelt T, bR 39 qaswﬁaﬁgﬁqmg@maﬁm@ e

T, 0 30 9T gF R S FMR?

When the shadow (on the ground) of a pole h metres high is \/ih metres, what

is the angle of elevation of the sun at that time ?

Qg -d
SECTION - B

U9 AT 5 | 10 9k Uk W97 o 2 3k g1

Question numbers 5 to 10 carry 2 marks each.

5. T HHATER S-TUS, Teh Afds 99qal W TSl ¢ T8k 915 ¥ 100 H. &I g
W feoa T fog A, 395 FRR &1 SF7 F0 30° 2| A9-3U8 Hl S9E A€
RIS |

A vertical flagstaff stands on a horizontal plane. From a point 100 m. From
its foot, the angle of elevation of its top is 30°. Find the height of the flagstaff.

6. 15 %S, 9 W 19 15 7% & HEAW ifohd € + TF 994 & T T
TR e T 9 H 9 Agsdl T sle Ml T fHadel TT $18 |
siferd W& & 2 AT 3 9 9T T KT TIRAHRAT T il |

15 cards, numbered from 1 to 15 are put in a box and mixed thoroughly. Then

a card 1s drawn at random from the box. Find the probability that the number
on the drawn card is divisible by 2 or 3.

530/2 4

Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

7. 56 Q.. A9 9 99 % 3T RIS H1 GFhA I ST, S FE W 45°
107 fala wm |

Find the area of a sector of a circle of diameter 56 cm and central angle 45°.

8. feoma HIRW 4312+ 5x—2/3=0 &I & HITST |

Solve the quadratic equation 4v3x2+5x—2J3=0.

9. T gHfgarg s ABC, F9H AB=AC &, & 3{a@d T g a1 7 &I, s
&1 ossil BC, AC 991 AB %l %Y P, Q 91 R W ¥0¥ &l ¢ | fag sifsre fo
st foig P s BC 1 UGS & |

A circle is inscribed in an isosceles triangle ABC with AB=AC, touching the
sides BC, AC and AB at P, Q and R respectively. Prove that the point of
contact P bisects the side BC.

10. TH IHIR S & YUY 7 USI 1 AN, THh GUH 13 UGl o A1 & GUE 1 39 I
% FIH 20 URI T AN A HITC |

The sum of first 7 terms of an AP is equal to the sum of its first 13 terms. Find

the sum of its first 20 terms.
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@ ug - ¥
SECTION - C

U9 AT 11 9 20 doh Uk 9T o 3 3k |

Question numbers 11 to 20 carry 3 marks each.

11. T 999 40 gqUlieh] 1 AN I HIC [ 6 F 9 A T 1 U 0 2|

Find the sum of first 40 positive integers which give a remainder 1 when
divided by 6.

12,

i 2
3Mpfd 2 §, AOB &g O 917! 91 &1 A9 &, a1 99 & foig T W Tt @1, AB
F ggH R P W ferdt 1 afg LBAT=30° §, @ ~TPA 3@ siferg |

Fig. 2

In fig. 2, AOB is the diameter of a circle with centre O. The tangent at a point
T on the circle, meets AB produced at P. If Z/BAT=30°, find £TPA.
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13. 1.5 . ofe T Yeteh U oot @ 2043 W &1 g W1 ST+ @ @ fau
& ¥t &1 3= i 30° %1 fEHAl i S J@ i

An observer 1.5 m tall is 20/3 m away from a chimney. The angle of elevation
of the top of the chimney from his eyes 1s 30°. Find the height of the chimney.

14. M9 1 52 Tl ol TSN H 9 hled T % gokeh G el LT &1 909 a1l T Tohred
feu @) 9 A A TS YHR W Wed & dE, S 9 Uk U fenten A
YIfgehdl 1A hiteE T Fehten T o=

() Tk Sl T 1 U R

(i) TH THAT B

Black aces and black queens are removed from a pack of 52 cards. Remaining
cards are reshuffled and then a card is drawn. Find the probability of getting :

(1) a black card

(11) an ace.

15. T sgaiored 9aq & %R 9 3@ W & 10 9. 39 9o & R 3R aa &
STITHA HI0T HUT : 30° IR 45° ¥ | wgHSA Wod Y Sarg iR ST i & e
H T A1 HifeT |

The angles of depression of the top and the bottom of a 10 m tall building from
the top of a multi-storeyed building are 30° and 45°, respectively. Find the
height of the multistoreyed building and the distance between the two
buildings.
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o

A E

ST 3

apfa 3 § ABCD U HHea © 99 AB||DC § 991 LABC=90°%| BCFE T&
I 1 S §1 A BC=CD=4.2 9.4, 991 AE=1.8 9.1, § 1 smifera wm
T TR J RIS

D C

Fig.3

In fig.3, ABCD is a trapezium with AB|DC, and ZABC=90°. BCFE is a
quadrant of a circle. If BC=CD=4.2 cm and AE=1.8 cm, find the area of
the shaded region.

17. 14 9H. YS9t Th 39 ¥4 § | AfYhan AhHR AT Tk P Hew o
o T 9N 99 3 H IR &A% A hitad |

A cone of maximum size is carved out from a solid cube of side 14 cm. Find
the total surface area of the remaining solid left out.
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18. fommeti 9 9.1 x 3.3 9. 1. x 4.5 V.. o7 Teh T 99 o faAw 1.50 9.9, =9
3R 3 . TR It fhaw =idt & fageni &1 frs@rn gem?

How many silver coins 1.50 cm in diameter and of thickness 3 mm, must be
melted to form a cuboid of dimensions 9 cm X 3.3 cm X 4.5 cm ?

19. Teh UQ &l 2 R STl Ta1 | gt gunfaa aftom =1 fafew) M o) 99 )

fowm =AW 3T B GIReRdT TG ShiTeT |

A die is rolled twice. Write all possible outcomes. Find the probability of
getting odd numbers on both times.

o ne 1 1 1 1
. —_ —_ _— ¢ — +
20. x % AU B HIfT : el 0, —(a+b).
Solve for x : 1 = 1 + 1 + l, x#0, —(a+b).
+b+x a b x
gue - ¢
SECTION -D

U9 GE&AT 21 | 31 deh Tdeh W97 & 4 31k §

Question numbers 21 to 31 carry 4 marks each.

21. THhell Sl 7Y o2 Hl el H M HaM & fau, 3tk T a9 &1 T 5000
ST STETFRAT BT | IHA T8d HEM T 150 i o= hi AT Ycdsh A STqAT o=d
% 50 d@dl Mg 1 J1d hIfT fR 12 7€M o 9% 98 AUl 91 il Tl § S
HEM o AU, AEvas TRT e el e 98 | THoha! & 39 9a9 9 fhg
qod %1 YS¥H B © 7

Ramkali would require ¥ 5000 for getting her daughter admitted in a school
after a year. She saved ¥ 150 in the first month and then increased her
monthly savings by ¥ 50 every month. Find, if she will be able to arrange the
required money after 12 months. Which value is reflected in her efforts ?

530/2 9 P.T.O.

Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

22, 1.6 ™. Tl Ueh TSHT 40 H. 3= T Yo7 & F8 T W TSI § | 96l T8 W7 I 3R
ST & el SHehT A1 © Yo & TIRa o1 =19 107 30°§ 60° 81 ST | 1d T

o a8 9o w1 AR fhat g0 T =eTet T T |

A 1.6 m tall boy is standing at some distance from a 40 m tall building. The
angle of elevation from his eyes to the top of the building increases from 30° to
60° as he walks towards the building. Find the distance he walked towards the
building.

23. T IQ i € IR Hehl TAT| Wi Fehal 1T Hitolg o :
() 5 TRl ot IR 7 &Y
(i) <FI YT W 3T el &1 A 5 9 Ay 7 8
A die is thrown twice. Find the probability that :

(1 5 will not come either time.
(1) Sum of numbers on the two dice is not more than 5.

24.

3T 4 H g O Tt < Fahe1d IRl bt 5T 7 4.1, 7R 14 .. 391 LAOC = 60°
T BHIfRa &5 T &h AT HITT |

Fig. 4
In fig. 4, the radii of two concentric circles with centre O are 7 cm and 14 cm and
/AOC=60°. Find the area of the shaded region.
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25. 7 . A e 20 H. TEU T FAT WIS A€ T 1 389 vt g fugt 1 gum
w9 § et #R 22 H. x 14 . ST Th A TR TAT | TH T Bl S 70
HIT |

A 20 m deep well with diameter 7 m is dug and the earth from digging is evenly
spread to form a platform 22 m X 14 m. Find the height of the platform.

26. % O 9 g9 W T o foig T & < wo¥f @d TP den TQ @< T 1 fag
IS ff ~PTQ=2-0PQ.

Two tangents TP and TQ are drawn to a circle with centre O from an external
point T. Prove that Z/PTQ=2-20PQ.

27. T UMl % A Tk WY Th S 22%fqﬂﬁﬁmm%l IS A M A

BNl o] A H, H 9 91l 7d 9 10 A 8 999 a1 €1 T T g 3T
F B B WA F GHI Jd RIS |

Two water taps together can fill a tank in 22% minutes. The tap of larger

diameter takes 10 minutes less than the smaller one to fill the tank separately.
Find the time in which each tap can separately fill the tank.

28, TH Vg & foIw i fads S 4 9.0, ? 91 @& g fadd & ufmm
18 4.1, 3R 6 9.7 T U forTh 1 I TR &FhA FNA hIfT |

The slant height of a frustum of a cone 1s 4 cm and the perimeters of its circular
ends are 18 cm and 6 cm. Find the curved surface area of the frustum.
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29. TF I F IR T TS ABCD Wi 0 ¥ 1 fag FIfT fF AB+ CD =AD + BC.

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that
AB+CD=AD+BC.

30. Tog IS foh o & fordll foig o0 ol W@, v foig § S orefl e W o«
=l B

Prove that the tangent at any point of a circle is perpendicular to the radius
through the point of contact.

31. 9% GHIR & A HIT foTgeh T qon diad ei o1 90 36 § 941 15 o ae
17 & S &1 A 156 T

Find the A.P., the sum of whose third and fifth terms is 36 and the sum of its
15th and 17th terms is 156.
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